
Serious about health.  
Passionate about care. 

In 2017 the UK Government introduced a requirement for UK 
companies with 250 or more employees to publish their gender pay 
gap data by 4 April 2018.

BMI Healthcare is committed to creating a diverse workforce and inclusive 
opportunities for all employees – regardless of gender. We are proud to  
offer a work environment where remuneration is based on skills, experience  
and qualifications. 

We have an environment where our employees can thrive; we offer opportunities for our 
staff to grow and develop professionally and personally, in both their working career and 
their personal skills and attributes. This is fundamental in enabling us to create a high 
performing company which better serves our patients, employees and other stakeholders. 

Within BMI Healthcare, 80% of our workforce is female.

We support the requirement for larger companies to be more transparent on gender 
pay differentials. 

CALCULATING THE GENDER PAY GAP

When calculating the difference in average earnings, the gender pay gap takes into 
account all jobs, both full-time and part-time, at all levels and all salaries within BMI 
Healthcare as at the 5 April 2017. 

In order to ensure we report accurately and meaningfully we use a number of statistical 
approaches – and terms - including median and mean average, as explained below. 

Mean  
The mean – sometimes referred to as mean average – is calculated by adding up all 
the numbers and dividing by the number of numbers. The mean (or average) of a set 
of numbers includes outliers – such as low or high salaries for a minimal number of 
employees. This means that the mean is sometimes not a useful measurement or 
representation of a situation.

Median 
The median is the mid-point of a range of data and illustrates the point at which half 
the results are above this point and half the results are below this point. When 
analysing a large set of data, such as the hourly pay of our workforce of just over 
10,000, it is often thought best to review the middle point (median) of the data 
because this provides a better measure of the central tendency.

The median – or mid-point of this set of illustrative data - is 10.00. But the mean average 
would be 15.51; you can see this is less useful as a benchmark because of the signifcant 
outlier of the 50.00 value

GENDER PAY IS NOT THE SAME 
AS EQUAL PAY!    

Equal pay deals with the pay 
differences between men and women 
who carry out work of equal value.

The gender pay gap shows the 
difference in the average pay between 
men and women.

CALCULATING  

THE AVERAGE

8.5 + 8.5 + 8.6 + 10 + 11 + 12 + 50

7
= 15.51

This example illustrates how using the 
median is more useful than the mean.
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IDENTIFYING THE MEDIAN
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